H & 0l & AHS B Ml A

A AL
M T2HL 9 2
CHel: BtEZ 2o EER=E)
SA - BB C9I(B) - NIRAY - BES ol ko o 8 o HIRS2
rar-=inl; 62,027,618 53,492,787 8,534,831
= 500,000 500,000 0
z 1,555,000 1,555,000 0
= 1,468,000 0 1,468,000
[ 8,486,584 7,270,995 1,215,589
CH 3,200,000 3,200,000 0
= 46,818,034 40,966,792 5,851,242
C22H4 & 2 18,869,440 14,916,440 3,953,000
= 568,000 0 568,000
< 640,280 455,280 185,000
s 17,661,160 14,461,160 3,200,000
UBIEZ 2 9,734,000 8,004,000 1,730,000
£ 500,000 0 500,000
= 9,234,000 8,004,000 1,230,000
ZEHHIAY 2,102,000 2,002,000 100,000
401 Al&BIL LY 2,102,000 2,002,000 100,000
01 Al£ZHI 2,100,000 2,000,000 100,000
ocxi7ad T2HEAIY F&4e 5 EF
all 100,000,000 100,000 0 100,000
SHEEZZ HHIAIY 6,002,000 6,002,000 0
= 500,000 0 500,000
i 5,502,000 6,002,000 500,000
401 AlEHIYL S THYI 6,002,000 6,002,000 0
£ 500,000 0 500,000
= 5,502,000 6,002,000 500,000
01 AlZHI 6,000,000 6,000,000 0
otfA~&F AR HEEZ HESA
Z & 3,500,000,000& x14] 3,500,000 3,500,000 0
= 500,000 0 500,000
= 3,000,000 3,500,000 A500,000
A0LE SHOITHA IC &X 1,830,000 0 1,630,000
401 AlEHIYL 2 THYI 280,000 0 280,000
01 Al&HI 280,000 0 280,000
oGH0IIHA IC AXIAIS (BEER)
280,000,000 280,000 0 280,000
403 TR M SAH=01H 1,350,000 0 1,350,000
02 SI12S0ItH et =& 2 €A I 1,350,000 0 1,350,000
=GH0IIHA 1C &EXIAHY 1,350,000,000& 1,350,000 0 1,350,000
FIEE2HE 2,630,000 2,200,000 430,000
< 535,000 350,000 185,000
= 2,095,000 1,850,000 245,000
OEl0l 257 HEAI (HEALY) 630,000 500,000 130,000
< 315,000 250,000 65,000
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A AL
i C2H4 o 2
=t RIgE2Hd (SH &)
SA - B O9I(SH) - MRALY - BAS o vy JERY RS2
[ia 315,000 250,000 65,000
401 AIEHIZL 2 OHYI 630,000 500,000 130,000
=S 315,000 250,000 65,000
s 315,000 250,000 65,000
01 AlZHI 630,000 500,000 130,000
o2l0I2s7 HEAY
2 & 630,000,000 *14] 630,000 500,000 130,000
< 315,000 250,000 65,000
s 315,000 250,000 65,000
WAL A2 HE A 1,800,000 1,500,000 300,000
&< 120,000 0 120,000
= 1,680,000 1,500,000 180,000
401 AlEHIZ 201 1,800,000 1,500,000 300,000
S 120,000 0 120,000
s 1,680,000 1,500,000 180,000
01 AlZHI 1,800,000 1,500,000 300,000
ocAlgld EE flet &S TXE £X
300,000,000& 300,000 0 300,000
< 120,000 0 120,000
[ias 180,000 0 180,000
A= 2el 6,204,880 4,411,880 1,793,000
= 68,000 0 68,000
< 105,280 105,280 0
[ias 6,031,600 4,306,600 1,725,000
2 |X2el 4,171,880 3,578,880 593,000
£ 68,000 0 68,000
S 5,280 5,280 0
i 4,098,600 3,573,600 525,000
401 AIEHIZL 2 0HYI 3,636,000 3,043,000 593,000
= 68,000 0 68,000
[ias 3,568,000 3,043,000 525,000
01 Al&H| 3,358,000 2,765,000 593,000
o ® AIJH S2FHIAIY
300,000,000 300,000 0 300,000
ogf N30t AL ALY
150,000,000 150,000 0 150,000
oM& - MY HAZZ HMEEX £X
143,000,000& 143,000 0 143,000
= 68,000 0 68,000
[ias 75,000 0 75,000
wE K2 2,033,000 833,000 1,200,000
& 100,000 100,000 0
= 1,933,000 733,000 1,200,000
401 AlEHIZL R OHYI 2,033,000 833,000 1,200,000
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2A:

rar=;

HH: CRHL L 2
=@t RAE+ 2l (EEEE))
M- SA(3) - MRAY - BES Ol &koy N3N Hwsz2
[ 100,000 100,000 0
= 1,933,000 733,000 1,200,000
01 Al&ZHI 2,030,000 830,000 1,200,000
olMEEW FH H2INSAI (20220 2 SH
) 1,150,000,000&! 1,150,000 0 1,150,000
o Z23H OF2tXEY AXIAIY (2022 E2H)
50,000,000 50,000 0 50,000
WSHF N 18,277 12,701 5,576
< 5,334 0 5,334
2 12,943 12,701 242
CRNSSTA 18,277 12,701 5,576
< 5,334 0 5,334
2 12,943 12,701 242
T2 NEY TA 29 18,277 12,701 5,576
[ 5,334 0 5,334
2 12,943 12,701 242
101 QIAH| 14,144 9,053 5,001
[ 4,849 0 4,849
2 9,295 9,053 242
M IRI22ISES 14,144 9,053 5,001
CWSAXAL QIHH|(XIEE)
76,9602 54 % x 1 4,156 4,156
< 4,156 4,156
o WSSAZAF O1AH| OREESH(XIYE)
38,4802+ 18 * 1 693 693
< 693 693
o482 AE 13,469,480 *5% 674 432 242
201 Ler2AY) 4,133 3,648 485
< 485 0 485
z 3,648 3,648 0
01 AFR2t2/l 4,133 3,648 485
CWEE TAF QA EH| R(XYE)
484,5202 485 0 485
< 485 0 485
SHMAD|BHEY| 11,006,380 8,540,380 2,466,000
=2 500,000 500,000 0
= 900,000 0 900,000
(= 2,356,250 1,906,250 450,000
2 7,250,130 6,134,130 1,116,000
SHEHHY 6,829,880 4,363,880 2,466,000
S 900,000 0 900,000
[ 690,000 240,000 450,000
2 5,239,880 4,123,880 1,116,000
22| H 2L Rz 116,000 0 116,000
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2A:

rab~nl,
I sHMAD|BHEHI
Gl gy (Bl &)
S - BE - BI(3) - NRAY - BAS il v ol H o CImE==
401 AIEHIZL 2 OHY| 108,000 0 108,000
01 AlIEHI 108,000 0 108,000
oM==Xl 247l ¥ E=HA
108,000,000& 108,000 0 108,000
402 SI2ERHE01 M 8,000 0 8,000
01 QIR AL B (KM THE ) 8,000 0 8,000
oxc|H AMdESs2el 8,000,000& 8,000 0 8,000
IS S0 950,000 0 950,000
L= 450,000 0 450,000
i 500,000 0 500,000
401 AlIEHIZL 2 0HYI 950,000 0 950,000
= 450,000 0 450,000
i 500,000 0 500,000
01 AlIZHI 950,000 0 950,000
oISl SFMEAY (2E 2XIH)
300,000,000 300,000 0 300,000
= 100,000 100,000
= 200,000 200,000
oJtSUHl SMLANS (MAH HAXIR)
150,000, 000& 150,000 0 150,000
L= 50,000 0 50,000
i 100,000 0 100,000
oJISHHl SFHEAY (52 84XIF)
300,000,000 300,000 300,000
= 100,000 0 100,000
= 200,000 0 200,000
o JISUHI SIHEAIS
200,000,000& 200,000 0 200,000
L= 200,000 0 200,000
M==XIAlE=Xl2 2,190,560 790,560 1,400,000
= 900,000 0 900,000
i 1,290,560 790,560 500,000
401 AlIEHIZL 2 0HY| 2,172,000 772,000 1,400,000
£ 900,000 0 900,000
ik 1,272,000 772,000 500,000
01 AlIZHI 2,170,000 770,000 1,400,000
oEE A=Kl HEFAS
700,000,000& 700,000 700,000
= 500,000 500,000
= 200,000 200,000
oS0t 28 MKl HE=AL
700,000,000& 700,000 0 700,000
= 400,000 0 400,000
[ias 300,000 0 300,000
SEXSNL 12,278,380 10,883,380 1,395,000
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B - SR(SIH) - HRAY - BES 0l Aro Y o CmE==T
= 2,170,000 1,670,000 500,000
= 10,108,380 9,213,380 895,000
sEZ DBt 12,278,380 10,883,380 1,395,000
= 2,170,000 1,670,000 500,000
i 10,108,380 9,213,380 895,000
FOHAALS 3,080,000 2,185,000 895,000
401 AIEHIZ 2018 3,080,000 2,185,000 895,000
01 Al&Hl 3,015,000 2,120,000 895,000
oHAF 0F2cl AD|0I= =2 &EXI3A
80,000,000 80,000 0 80,000
oZAHE HEL MEES ZSSM
40,000,000& 40,000 0 40,000
oHAHZ otde| 2L0IS =2 JHIZA
20,000,000 20,000 0 20,000
oZds JdEcl JIISBHH 212 =2 ZHl
ZAl 30,000,000& 30,000 0 30,000
o4 T otEH32| A0S RSH FHIAY
20,000,000& 20,000 0 20,000
CTAHS $A32 AHDIS RUT2 MY
At 20,000,000 20,000 0 20,000
oZHE RE3el AMS0IS 52 THIZA
20,000,000& 20,000 0 20,000
cAHE REI1Cl REOIE =2 SEEIA
20,000,000& 20,000 0 20,000
oZAE 0222l ADI0IS otZ MEEIAL
15,000,000& 15,000 0 15,000
oXRAM &tgle| SEile s2 ZHEIA
50,000,000& 50,000 0 50,000
S50 UM AYTR LXTA
50,000,000& 50,000 0 50,000
SN HLOMXS Meld dU2 W3
At 120,000, 000& 120,000 0 120,000
oHANH AEC HEOIS SSEHISAM
20,000,000& 20,000 0 20,000
oMHH ZHOIIME~ATHRIZE 21E X3
At 50,000,000& 50,000 0 50,000
oMHIH R4l SA0ls nEHt AX13
At 15,000,000& 15,000 0 15,000
SHAH WHC 0SS SETEESAM
10,000,000& 10,000 0 10,000
oA 42| BHEI0IE MY R SHEIA
50,000,000& 50,000 0 50,000
oZEH Hite| LHEADIS =2 £XI3
At 50,000,000 50,000 0 50,000
oM&H Sl SAHOlE s2EEZA
30,000,000& 30,000 0 30,000
oS52H Qite| SEOIS =2 JHISA
35,000,000 35,000 0 35,000
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SA AL
M sEXGNY
el sSEFEFIIEEY EER=E)
SA - BB SLA(BH) - NSAY - BES 0fl 04 o) DS
o=otH HEel Z00s !+=22 X3
At 100,000,000 100,000 0 100,000
oS5lH HEe| MENIE 2R X3
A 50,000,000& 50,000 0 50,000
KSOHNL A (EXIR) 2,170,000 1,670,000 500,000
[ 2,170,000 1,670,000 500,000
401 AIEHIL 20| 2,170,000 1,670,000 500,000
< 2,170,000 1,670,000 500,000
01 AlEZHI 2,170,000 1,670,000 500,000
oHAE otgel FA0IS =2 FHISA
30,000,000 30,000 30,000
< 30,000 30,000
o M4 =2 FHIAI(SE2l o202,
tielel =02, el MZots)
75,000,000 75,000 75,000
< 75,000 75,000
oS0 =2 FHl ¥ &2 HEFSAHY
g2 42012, 242l WENS)
60,000,000& 60,000 60,000
[ 60,000 60,000
S0/ =3cl sg0s &2 WEE ¢ =
Otal 302 sZ2AESA
60,000,000& 60,000 60,000
[ 60,000 60,000
oS0|H ite| HOlS ot S IAL
200,000,000 200,000 200,000
< 200,000 200,000
oS0t tEel, gl == ZHISAHH
Scl E0ts, g2 82012 - EXIoE)
75,000,000& 75,000 0 75,000
< 75,000 0 75,000
SENS DS 5,527,100 4,857,100 670,000
z 1,555,000 1,555,000 0
< 30,000 0 30,000
= 3,942,100 3,302,100 640,000
SEZFNY 855,100 685,100 170,000
< 30,000 0 30,000
= 825,100 685,100 140,000
OISEHAAY 22 222,000 82,000 140,000
402 RIZHAHZ01H 210,000 70,000 140,000
01 IR SASE X (XHMITHR) 210,000 70,000 140,000
oEEM Fit2| DAAFROHIEDISS =2 A
= 70,000,000 x14] 70,000 0 70,000
oXHE FH2| LSENISH 2 AHE
70,000,000 14! 70,000 0 70,000
SEQITAHIAIY (HEALY) 100,000 70,000 30,000
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SA AL
M sEXNAIE N
el SEFFONY EER=E)
SN - B SRABH) - HPAY - BES 0l &y |l 8 o tmE==T
[ 30,000 0 30,000
= 70,000 70,000 0
402 RIZEXH20IH 100,000 70,000 30,000
< 30,000 0 30,000
= 70,000 70,000 0
02 QI A2 AL E R (0IHTHE) 30,000 0 30,000
osEDIE A AFFFEX(ZHI)
30,000,000 30,000 0 30,000
< 30,000 0 30,000
OtS 2t=01 2,251,000 1,751,000 500,000
OIS RtED1-AIF (M EALY) 600,000 100,000 500,000
401 AIEHIZL 20| 600,000 100,000 500,000
01 Al&HI 600,000 100,000 500,000
SJ|EXRAFENHl L AAIZAHI
Z& 600,000,000 *14] 600,000 100,000 500,000
HY2AAH (AL 296,982 251,727 45,255
< 209,720 164,465 45,255
z 87,262 87,262 0
el 2| 268,754 223,49 45,255
< 209,720 164,465 45,255
= 59,034 59,034 0
23 o1Ad| 209,720 164,465 45,255
< 209,720 164,465 45,255
04 HSRESS 64,563 19,308 45,255
< 64,563 19,308 45,255
M BRA(RIAHY) 22N BEE2RE=s S 64,563 19,308 45,255
SRS 45,255,000 45,255 0 45,255
[ 45,255 0 45,255
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